



ADICIONES DE TRES SUMANDOS

Instrucciones: Resuelve las siguientes adiciones de tres sumandos.

$$\begin{array}{r} \boxed{7} \\ \boxed{1} \\ + \boxed{2} \\ \hline \boxed{} \end{array}$$

$$\begin{array}{r} \boxed{3} \\ \boxed{2} \\ + \boxed{2} \\ \hline \boxed{} \end{array}$$

$$\begin{array}{r} \boxed{7} \\ \boxed{2} \\ + \boxed{0} \\ \hline \boxed{} \end{array}$$

$$\begin{array}{r} \boxed{5} \\ \boxed{1} \\ + \boxed{4} \\ \hline \boxed{} \end{array}$$

$$\begin{array}{r} \boxed{2} \\ \boxed{2} \\ + \boxed{4} \\ \hline \boxed{} \end{array}$$

$$\begin{array}{r} \boxed{4} \\ \boxed{3} \\ + \boxed{1} \\ \hline \boxed{} \end{array}$$

$$\begin{array}{r} \boxed{1} \\ \boxed{1} \\ + \boxed{7} \\ \hline \boxed{} \end{array}$$

$$\begin{array}{r} \boxed{5} \\ \boxed{2} \\ + \boxed{2} \\ \hline \boxed{} \end{array}$$

$$\begin{array}{r} \boxed{3} \\ \boxed{3} \\ + \boxed{2} \\ \hline \boxed{} \end{array}$$

Resuelve:

$2 + 2 + 1 = \boxed{}$

$6 + 1 + 2 = \boxed{}$

$3 + 2 + 2 = \boxed{}$

$6 + 4 + 1 = \boxed{}$

$1 + 0 + 1 = \boxed{}$

$1 + 4 + 5 = \boxed{}$

$1 + 1 + 6 = \boxed{}$

$3 + 5 + 1 = \boxed{}$

$1 + 3 + 2 = \boxed{}$

$2 + 3 + 1 = \boxed{}$